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MTM3100 - Pré-calculo

Gabarito parcial da 8 lista de exercicios

—

B

(a) v2,2,4; (b) 1,v/2,2,4.

(a) S={zeR|2*>—3x+7>4}.
(b) S ={z e N|2°+ z < 32%};
(c)

(d) S={reN|2z—-4>0}

() S={reZ|2x—4>0}

(c) S={zeR|2x—4>0}=(2,00);
(d) S={reN|2zx—4>0}={3,4,5,...};
(e) S={ze€Z|2x—-4>0}={3,4,5,...}.

(a) Verdadeiro.
(b) Falso.
(c) Verdadeiro.
(d) Verdadeiro.
(e) Falso.
(f) Verdadeiro.
(g) Verdadeiro.
(h) Verdadeiro.
(i) Verdadeiro.
(j) Falso.
(k) Falso.
(1) Verdadeiro.




10.

11.

12.

(a) Verdadeiro.
(b) Falso.

(c) Verdadeiro.
(d) Verdadeiro.
(e) Falso.

(f) Verdadeiro.
(g) Verdadeiro.
(h) Verdadeiro.

(a) S =(—00,7/2;
(c) §=(—o00,—-1/2);
(e) S =(—o00,—18);
(g) §=(—00,1].

(a) §=[-3,-1);
(c) S=1[9/2,5);

(e) S=10.

(a) S=(—00,—1)U(3/5,00);
(c) §=(—o00,—3/4)U(-2/5,2);
(e) S = (—00,0)U(1,2) U (3,4).

(a) §=R—{3} =(-00,3) U(3,00);

(c) S=10;
(e) S=(-1/3,2/5);
(a) S =(—00,—2)U(-1/2,00);

(c)
(e)

(g) S =(—00,-5/2)U(-3/5,—1/3);

(i) S=(0,1)U(2,00);
(k) S=(-1,00U(1/3,1) U [3,00).

(a) S=KR;
(c)
(e)
(g) S=0.

(a) z € [2,00);
(c) z €]-1,2);

(b) S = (_007 _2);
(d)
(f)

(b)
(d) S = (15/2,21/2);

(b) §= (—00, =7/2] U[1/6, 00);
(d) §=(—o0, =3/5]U[-1/4,3/2];

(b) 5= (—00,-8/3);

(d)
(f) S = (—00,5/3]U{2,3}.

(b) S = (—00,2/3)U(3/2,00);
(d) S = (—00,-10) U (—4/3,0);
(f) S=(2,3];

(h)
(j) S =(—00,—5/3)U[-29/24,-2/3);

(b) S = [~1/2,2;
(d)
(£) S = {3/2};

(b) = € (2, 00);

(d) A expressao nao faz sentido em R.



